Solve System of Equations

Solve the following systems of linear equations using elimination.

x+y=1 —Tx—y=13
x—y=3 8x+y=—14
—7x-2y=-13 —Ax-2y=-12
x=2y=11 4x+8y =-24
Tx=>y=-24 10x+7y=1
—9x+5y =18 Sx+7y=-24
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Solve System of Equations

Solve the following systems of linear equations using elimination.

x+y=7
x—y=3

x=5,y=2

—Tx—-2y=-13
x—2y=11

Tx—-5y=-24
-9x+5y =18

x=3,y=9

—Ix—y=13
Sqx+y=-14
x=—-1,y=-6
—4x-2y=-12
4x+8y =-24
x=6,y=-6
10x+7y=1
Sx+7y=-24
x=35y=-7

Go to onlinemathlearning.com for more free math resources




